Erstellt von Paul Bachler 2008

PAT Start

0% - 60%
60% - 80%

[T
Gollner Horngacher
Namen: Fleckl Stefan JFoidl Dominik Robert Elias
1) StoR-Geschwindigkeit] 3] 3] 3] 1] 3] 2| 3] 2| 3| 2| 3] 4
@ Soll: 3,00 3 2 2,666666667 3
Faktor (Y) 33,34 33,34 33,34 33,34
Points (@ x Y) 89
2) Stol3-Geradlinigkeit] 2| 3] 3) 2 3] 3] 3[ 3 3 3 3 2
3 3 3 3
@ Soll: 2,00 2,75 2,75 3 2,75
Faktor (Y) 50 50 50 50
Points (D X Y)
Summery
3 Wwinkel-Balle] 4] 4] 3] 2| 4] 2| 3] 3] 5] 4 3] 4
@ Soll: 3,00] 3,666666667 | 2,666666667 | 3,666666667 | 3,666666667
Faktor (Y) 33,34 33,34 33,34 33,34
Points (@ x Y) 89
Summery pAK]
4) Nachlauf-Wirkung] 12 13[ 12] 7] 8] 9] 10| 11| 9| 10[ 12[ 12
@ Soll: 9,00] 12,33333333 8 10 11,33333333
Faktor (Y) 11,12 11,12 11,12 11,12
Points (2 x Y) 89
Summery 382
5) Riicklauf-Wirkung] 10| 9] 9| 7| 5] 2] 11| 10| 10] 8] 8] 7
@ Soll: 7,00] 9,333333333 | 4,666666667 | 10,33333333 | 7,666666667
Faktor (Y) 14,29 14,29 14,29 14,29
Points (@ x Y)

Summery

449

6) KI. Pos.-Bereich  a] 3| 1] 1) 1f 1] o} 3[ 1] 2] 1f 3/ 3
bl 8 9 11 11 2| 11 2| 5 8 4 5 5
@ Soll: 4,00] 3,833333333 1 3,5 3,5
Faktor (Y) 25

Points (D x Y) 96
Summery
7) Gr. Pos.-Bereich a] 4| 2| 3] 1] 1 11 1] 4 5] 1] 3] 5
bl 4 o0 2 3] 1| 4 1 o0 31 9 2 1
@ Soll: 5,00 2,5 1,833333333 | 2,333333333 3,5
Faktor (Y) 20 20 20 20
Points (@ x Y) 50 37 47 70
Summery 510
8)"Press Bande"| 1| 1| 1] 1] 1] of 3] 3] 4] 3] 3 1
@ Soll: 3,00 1 0,666666667 | 3,333333333 | 2,333333333
Faktor (Y) 33,34 33,34 33,34 33,34
Points (J x Y) 33 22 78
Summery 533
9) Standardbélle 2 1 0 1 1 0 2 2 1 1 2 3
2 2 2 1 3 2 3 1
@ Soll: 2,00 1,4 1 2 2
Faktor (Y) 50 50 50 50
Points (D x Y) 70 50
Summery 879 583
10) 8-Ball Situation] 1] 1] 1] o 4] of 1if 1[ 4] 6] o] 4
@ Soll: 3,00 1 1,333333333 2 3,333333333
Faktor (Y) 33,34 33,34 33,34 33,34
Points (J x Y) 33 44 67

Summeny [T




PAT 1

Erstellt von Tom 2011 0% - 60%
|_Uber 100% |
Schober Winkler Bachler Bachler Winkler
Namen: Wirtl Martin Clemens Michael Christina Daniela Marion Wiirtl Bianca
1) StoB-Geschwindigkeit] 2] 2[ 2] '3[ 3[ 4] 3] 3[ 2] of 2[ 2] 4] 3] 4] 2[ 3] 3] 3 2] 2
@ Soll: 3,33 2 3,333333333 | 2,666666667 | 1,333333333 | 3,666666667 | 2,666666667 | 2,333333333
Faktor (Y) 30 30 30 30 30 30 30
Points (& x Y) 60 80 80 70
2) StoB-Geradlinigkeit] 3] 3] 2] 3] 3] 3] 3] 3] 3] 2[ 3] 31 3] 3] 2] 2[ 2] 3] 2] 2] 3
3 3 3 2 3 3 3
& Soll: 2,50 2,75 3 3 25 2,75 2,5 2,5
Faktor (Y) 40 40 40 40 40 40 40
Points (@ x Y)
Summery| 170 140
3) Nachlauf-Wirkung] 6] 7| 8] 12[ 12| 10| 12| 12| 12] 10| 12| 10] 10| 12| 10| 12|
@ Soll: 11,00 7 11,33333333 12 10,66666667 | 10,66666667
Faktor (Y) 9,09 9,09 9,09 9,09 9,09
Points (J x Y) 64
Summery| 234 237
4) Rucklauf-Wirkung] 4] 4] 5] o 12] 8] 12] 8] 10] 6] 5[ 4] 4] 9o 5| 5] 5[ 7] 3[ 4] 4
@ Soll: 10,00] 4,333333333 | 9,666666667 10 5 6 5,666666667 | 3,666666667
Faktor (Y) 10 10 10 10 10 10 10
Points (J x Y) 43 97 50 60 57 37
Summery| 277 287 377 346 288
5) KI. Pos.-Bereich @ | 3] 2 | 5] 2 4] | 5 [ 1] 2 | 3] 2 | 3] 5] 1] 2| 2
b [ 2] o [ 2] s| 5] 5] 3 [ 1] 3 [ 2] 2 [ 1] 8] o] o] 1
@ Soll: 3,33 2,17 4,00 4,50 1,83 2,00 2,83 1,00
Faktor (Y) 30 30 30 30 30 30 30
Points (@ x Y) 65 55 60 85 30
Summery| 342 437 431 318
6)Gr.Pos.-Bereich al 2[ 3] 1] 4] 4] 6] 4] 6] 5] of 2] o] 4] of 1 | 2] 3] 4] 1] 1
bl 1] 1] 2] 3] 3[ 5| 3] 3] el 2] 1] 1] 3] o 1 [ 2] 1] 2] 1] 2
@ Soll: 3,33] 1,666666667 | 4,166666667 4,5 1 15 2 1,833333333
Faktor (Y) 30 30 30 30 30 30 30
Points (3 x Y) 50 30 45 60 55
Summery| 392 372 482 491 373
7)PressBande _a] 3] of 3] 1] 3] e 3] 3] 6] 3] 2] o] e 2| 2 2 6] 6 5 5 3
bl 4] 4] 4] 6] 6] 3]l 10] 9o 8] 2 5[ 2] 3[ 4] 2] 8 5] 3] 2] 2[ o
@ Soll: 4,00 4,166666667 6,5 2,333333333 | 3,166666667 5 2,833333333
Faktor (Y) 25 25 25 25 25 25 25
Points (2 x Y) 75 58 79 71
Summery| 467 430 561 616
8) Endlos-Ubung] 6] 2] o] 2[ of 4] of 8 o] 1] 3[ 1] 7[ 1] 1] 4] 1] 2] 2[ of 1
@ Soll: 4,50] 2,666666667 5 8,666666667 | 1,666666667 3 2,333333333 1
Faktor (Y) 22,22 33,34 33,34 33,34 33,34 33,34 33,34
Points (@ x Y) 59 78
Summery| 526 486 661 694
9)Standardballe] 3| 2] of 2| 1] o] 3] 3] 3] 1] 2| 1| o] 2] 1] 2| 2] of o] 1] 2
1] o 1] 3] 1] o 1| 2 o] o]
& Soll: 2,00 1,2 0,8 2,6 1 12 1,2
Faktor (Y) 50 50 50 50 50 50
Points (2 x Y) 60 40 50 60 60
Summery| 586 536 721 754
10)9-BallSitvation] 1] 4] 2] 1[ 2[ 6] 2] o 2] 2[ 2[ 3] 2[ 2] 1| 2] 1] 4] 1[ of 2
@ Soll: 4,50] 2,333333333 3 4,333333333 | 2,333333333 | 1,666666667 | 2,333333333 1
Faktor (Y) 22,22 22,22 22,22 22,22 22,22 22,22 22,22
Points (& x Y) 52 67 52 37 52 22
summeny[ 638 [N o 758 805 550




